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Open the cars.sav file.

2.  Analyse  two interval variables by using a scattergram  

-Select Graphs from the top bar and you will get a menu

-Select Scatter  from the menu. This will give you a choice of scatterplot types. 


-Select simple and then define and you will get a window in which you will see your variables.


-Select Mpg and Weight from this menu (decide which is x and which is y). 

-Add a title. Use help if you need more information

-Select ok and you will get your scattergram

INTERPRET THE DATA
a.  Estimate the strength and direction of the relationship

b.  Does the relationship appear to be linear or non-linear. Why?

To get a better idea of linearity.

- Double click the scatterplot window and you will get the chart editor

- Select Chart and you will get a menu.  

- Select options and you will get a window

- Select Fit line and ok
Does the fit line confirm or disconfirm you eye assessment of linearity?
Return to main output window

3.  Analyse two interval variables by using Pearson's r

-Select Analyze from the top bar and you will get a menu

-Select Correlate from the menu. This will give you another menu


-Select Bivariate and you will get a window

-Select Mpg and Weight and Pearson and ok.

INTERPRET THE DATA
a. Compare the correlation coefficients with the interpretation you came up with in two above.  How accurate were you?  How would you now describe the relationship between the two variables

b.   Is Pearson's r the most appropriate coefficient? If not why?  

c.   What other coefficient might be appropriate?  What result do you get using that?

d.  Does it make an appreciable difference in your interpretation of the relationship? 

SPSS Question
Go to the bivariate window and Select Options. You will get the option to exclude cases pairwise or listwise. This option appears in many SPSS analyses

-Select help and in your own words, explain  the difference.

 Why does SPSS use pairwise  as the default. In this example does it make any differences?  Why or Why not?

4. Repeat the above using different variables from any of the data sets in SPSS.  Interpret the data as well as analyse it. 

Cross tabulations and Correlation Coefficients for Nominal and Ordinal Data

5. Using the 1991 US general social survey, answer the following questions:

Are women or more men more likely to take an active part in world affairs?

Is there a strong association between the two variables?

Produce a Crosstab for the data

- Select Analyze from the top bar and you will get a menu

- Select Descriptive Statistics from the menu. This will give you another menu


- Select Crosstabs and you will get a window

- Select your new variables, determine which is X and Y and (remember what these conventions mean from the lecture) position them in the correct box (columns or rows)

- Select Statistics  and choose the recommended correlation coefficient from the lecture notes. Select Continue
- Select Cells and in the new window select observed  (under count) and the appropriate percentaging procedure (under percent). Select continue
Select OK
Interpret the data as well as analyse it.
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